3 Digit Division

Name: Score:

Calculate the quotient and remainder

182 + 4 = 127 + 5 =

321 +6= 171+ 4 =

243 + 4 = 354 +7 = 226 -9 =
533+7= 146 + 6 = 332+5=
642 + 8 = 407 =5 = 202 -6 =
301 +6= 195 +2 = 139+ 8 =
204 -8 = 142 =7 = 140 -6 =
188 +3 = 189 +2 = 124 - 8 =
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Answers

Calculate the quotient and remainder

182 +4= 45R 2 127 +5= 25R2

321+6= 53R3 171+4= 42R3

243 +4= 60R3 354+7= 50RA4 226 +9= 25R1

533+7= J/6R1 146 + 6= 24R?2 332+5= 66R?2

642 +8= 80R?2 407 +5= 81R2 202 +6= 33R4

301+6= 50R1 195+2= 9/R1 139+8= 1/R3

204 +8= 25R4 142 +7= 20R2 140+6= 23R2

188+3= 62R2 189+2= 94R1 124 +8= 15R4
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